
SACE Tmax XT

Doc. N.° 2TFH000032A1001 - ECN000134340 - Rev. C

MIR - Interblocco meccanico orizzontale tra due interruttori XT4-XT5
MIR - Mechanical interlock across two orizontal XT4-XT5 circuit breakers
MIR - Mechanische verriegelung zwischen zwei leistungsschaltern waagrecht XT4-XT5
MIR - Interverrouillage mécanique entre deux disjoncteurs horizontal XT4-XT5
MIR - Enclavamiento mecanico entre dos interruptores horizontal XT4-XT5
MIR - 机械联锁 XT4-XT5  

XT4, XT5 

1

22

1

x2 

x4 M8

x4 M8 x 20

x2 

x2 

x4 M8

x4 M8 x 20

MIR - H MIR - V



SACE Tmax XT | ABB

(F) Interruttore sso
     Fixed circuit breaker
     Festen kreis

     Disjoncteur xe
     Interruptor xo

(P) Interruttore rimovibile
     Plug-in circuit breaker
     Abnehmbar festen

     Disjoncteur dèbrochable
     Interruptor enchufable

(W) Interruttore estraibile
       Withdrawable circuit breaker
      Extrahierbare festen

      Disjoncteur extractible
      Interruptor extraible

B

     固定式断路器      插入式断路器      抽出式断路器

安装板

需另行选购

（按配置选择两款型号）

A

C

Piastre di accoppiamento
da ordinare separatamente
( n° 2 piastre per interblocco)

Connecting plates
to arrange separately
( nr. Interlock plates)

Einzeln zu bestellende
Kaschierplatten
( 2 St Platten für Verriegelung)

Plaques d’accouplement
À commander séparément
( n° 2 plaques pour interverrouillage)

Planchas de emparejamento
para ordenar por separado
( N° 2 planchas por cada enclavamiento)

A

XT4    

(F) 

XT4-XT5

XT5-XT5

C

XT5-400/630 

(F) 

B

XT4    

(P/W) 

D

XT5-400

(P/W) 

E

XT5-630 

(P/W) 

     安装板序号

Congurazione
Conguration
Konguration
Conguration
Conguraciòn

配置

N° PIASTRE        N° PATES       N° PLATTEN       N° PLAQUES       N° PLACAS

XT4(F) - XT5-400/630(F)

XT4(F) - XT5-400(P/W)

XT4(F) - XT5-630(P/W)

XT4(P/W) - XT5-400/630(F)

XT4(P/W) - XT5-400(P/W)

XT4(P/W) - XT5-630(P/W)

XT5-400/630(F) - XT5-400/630(F)

XT5-400/630(F) - XT5-400(P/W)

XT5-400/630(F) - XT5-630(P/W)

XT5-400(P/W) - XT5-400(P/W)

XT5-400(P/W) - XT5-630(P/W)

XT5-630(P/W) - XT5-630(P/W)

D
E



SACE Tmax XT | ABB

5

1 XT4 MIR-H

1

2

2 Nm

18 lb in

1

2

2 Nm

18 lb in

2 XT5 MIR-H 

3 4XT4 MIR-V XT5 MIR-V 

1

1

3

2

2

4

4

44

5
2.5 Nm

22,3 lb in

Example: MIR-H 

1

3

2



9

SACE Tmax XT | ABB

6

7

1

1 2

2

3

3

3

4

4

3

3

4

4

5

2.5 Nm

22,3 lb in

Example: MIR-V 

1

21

2

XT4 F XT4 F  8

Example: XT4 F - XT5 F (MIR-H)  

1

2

3

4

5

7

6

8

4P only

3 Nm

26,8 lb in

1.1 Nm

9,8 lb in
1.1 Nm

9,8 lb in

3 Nm

26,8 lb in

*Only for XT4X 500V<DC<750V

All breakers except *

Separately Purchase



SACE Tmax XT | ABB

11

10

XT4 W   

13

Example: XT4 F - XT5 F (MIR-V)  

1

2
3

4

5

7

6

8

4P only

9

12

14

XT4 W   

1

2

1

2

3

4

XT4 W   XT4 W   

3 Nm

26,8 lb in

1.1 Nm

9,8 lb in 1.1 Nm

9,8 lb in

3 Nm

26,8 lb in

3 Nm

26,8 lb in

1

2

1

1

2

10

*Only for XT4X 500V<DC<750V

All breakers except *

Separately Purchase



SACE Tmax XT | ABB

15

17

19

XT4 W   XT4 W   161

XT4 W   XT4 W   18

XT4 W   XT4 W   20

1

2

1

1

2

1

2

3
1

2

2

2

1

1.4 Nm

12,5 lb in



SACE Tmax XT | ABB

24

21

23

XT4 W   XT4 W   22

5

3

1

3

4

45

2

Example: XT4 P - XT5 P (MIR-H)  

Example: XT4 W - XT5 W (MIR-V)  

1

2

3

4

5

7

6 8

4P only

3 Nm

26,8 lb in

1.1 Nm

9,8 lb in

3 Nm

26,8 lb in

5 Nm

45 lb in

1

2
3

4

5

7

6

8

3 Nm

26,8 lb in

1.1 Nm

9,8 lb in

3 Nm

26,8 lb in

5 Nm

45 lb in

9

10

3 Nm

26,8 lb in

4P only

Note: Contact ABB if mounted 400A 
xed part with VR on MIR-V. 

注意：请联系ABB了解MIR-V上安装
400安带VR端子固定部分的方法。

2

1

1 Nm
9 lb in

2



25

28

Test: Set the breakers to ensure MIR is installed correctly.

        1, Close breaker A, breaker B can not be closed;

        2, Close breaker B, breaker A can not be closed. 

26

Breaker 
A

Breaker 
B

测试：按下述步骤操作断路器，以确保MIR被正确安装。

        1，闭合断路器A后，断路器B不能被闭合；

        2，闭合断路器B后，断路器A不能被闭合。

27

9 Nm

80,4 lb in

M8 x 20

9 Nm

80,4 lb in

M8 x 20

464 [18,27'']

2
3

7
 [

9
,3

3
'']

8.5
[   0,33'']

270 [10,63'']

3
3

0
 [

1
2

,9
9

'']

A

6
7

5
 [

2
6

,5
7

'']

500 [19,69''] A

XT4 P-W ON RIGHT + KL - > A=35 

XT5 P-W ON RIGHT + KL - > A=35 

Breaker 
A

Breaker 
B

Front Mounted Rear Mounted

470 [18,50'']

2
9

5
 [

1
1

,6
1

'']

234 [9,21'']

5
8

2
 [

2
2

,9
1

'']

8.5
[   0,33'']

M8 x 20

9 Nm

80,4 lb in

240 [9,45'']

6
4

0
 [

2
5

,2
0

'']

9 Nm

80,4 lb in

M8 x 20

8.5
[   0,33'']

8.5
[   0,33'']


